

**ON OSCILLATION OF SOLUTIONS OF SECOND ORDER
NONLINEAR DIFFERENCE EQUATIONS***

**ПРО КОЛИВАННЯ РОЗВ'ЯЗКІВ НЕЛІНІЙНИХ
РІЗНИЦЕВИХ РІВНЯНЬ ДРУГОГО ПОРЯДКУ**

R. Koplatadze

*Tbilisi State Univ.
University st. 2, Tbilisi 0186, Georgia
e-mail: r_koplatadze@yahoo.com*

S. Pinelas

*Academia Militar
Departamento de Ciências Exactas e Naturais
Av. Conde Castro Guimaraes
2720-113 Amadora, Portugal
e-mail: sandra.pinelas@gmail.com*

The difference equation

$$\Delta^2 u(k) + p(k) |u(\sigma(k))|^\lambda \operatorname{sign} u(\sigma(k)) = 0,$$

is considered, where $0 < \lambda < 1$, $p : N \rightarrow R_+$, $\sigma : N \rightarrow N$, $\sigma(k) \geq k + 1$ for $k \in N$ and the difference operator is defined by $\Delta u(k) = u(k + 1) - u(k)$, $\Delta^2 = \Delta \circ \Delta$. Necessary conditions are obtained for the above equation to have a positive solution. In addition, oscillation criteria of new type are obtained.

Розглядається різницеве рівняння

$$\Delta^2 u(k) + p(k) |u(\sigma(k))|^\lambda \operatorname{sign} u(\sigma(k)) = 0,$$

де $0 < \lambda < 1$, $p : N \rightarrow R_+$, $\sigma : N \rightarrow N$, $\sigma(k) \geq k + 1$ для $k \in N$, різницевий оператор визначається як $\Delta u(k) = u(k + 1) - u(k)$ та $\Delta^2 = \Delta \circ \Delta$. Отримано необхідні умови для існування додатного розв'язку наведеного рівняння. Також встановлено нові критерії коливання розв'язку.

1. Introduction. Consider the difference equation

$$\Delta^2 u(k) + p(k) |u(\sigma(k))|^\lambda \operatorname{sign} u(\sigma(k)) = 0, \quad (1.1)$$

where

$$p : N \rightarrow R_+, \quad \sigma : N \rightarrow N \quad (1.2)$$

are functions defined on the set of natural numbers $N = \{1, 2, \dots\}$, $\Delta u(k) = u(k + 1) - u(k)$ and $\Delta^2 = \Delta \circ \Delta$. Everywhere below it is assumed that

$$\sigma(k) \geq k + 1 \quad \text{for } k \in N, \quad 0 < \lambda < 1, \quad (1.3)$$

* The work was supported by the Georgian National Science Foundation (Grant No. GNSF/ST09-81-3-101).

$$\sup\{p(k) : k \geq i\} > 0 \quad \text{for } i \in N. \quad (1.4)$$

For each $n \in N$ denote $N_n = \{n, n+1, \dots\}$.

Definition 1.1. Let $n_0 \in N$. We will call a function $u : N_{n_0} \rightarrow R$ a proper solution of the equation (1.1) if it satisfies (1.1) on N_{n_0} and

$$\sup\{|u(i)| : i \geq k\} > 0 \quad \text{for any } k \in N_{n_0}.$$

Remark 1.1. Let the condition (1.3) be fulfilled, $k_0 \in N$ and $u : N_{k_0} \rightarrow R$ be a nontrivial solution of (1.1). Then u is a proper solution. Indeed, if we assume the contrary, then there exists $k_1 > k_0$ such that $u(k) = 0$ when $k \geq k_1$ and $u(k_1 - 1) \neq 0$. Since $\sigma(k_1 - 1) \geq k_1$, from the equality

$$u(k+2) - 2u(k+1) + u(k) = p(k)|u(\sigma(k))|^\lambda \text{sign } u(\sigma(k)) = 0$$

we have $u(k_1 - 1) = 0$. The obtained contradiction proves that u is a proper solution of (1.1). Therefore if the condition (1.3) is fulfilled, then the set of nontrivial solutions of (1.1) coincides with the set of proper solutions. On the other hand, we can give examples of difference equations with a nontrivial solution which is its nonproper solution.

Definition 1.2. We say that a proper solution $u : N_{n_0} \rightarrow R$ of (1.1) is oscillatory if for any $k \in N_{n_0}$ there exist $n_1, n_2 \in N_k$ such that $u(n_1)u(n_2) \leq 0$. Otherwise the solution is called nonoscillatory.

The problem of oscillation of solutions of linear difference equations has been studied by several authors, see [1–6] and references therein.

As to investigation of the analogous problem for equations of type (1.1) ($0 < \lambda < 1$), to our knowledge for them there have not been obtained results analogous to those known for ordinary differential equations (see [7, 8]). In this paper we will try to fill this gap for second order difference equations with advanced argument.

Everywhere below it is assumed that the condition

$$\sum_{k=1}^{+\infty} k p(k) = +\infty \quad (1.5)$$

is fulfilled.

Remark 1.2. The existence of positive proper solutions of rather general functional-differential equations of higher order is well known (see e.g. Lemma 4.1 from [9]). We can analogously prove the fact that if condition (1.5) is not fulfilled, then equation (1.1) has proper solution u satisfying the condition $\lim_{k \rightarrow +\infty} u(k) = c \neq 0$.

Analogous results for n -th order Emden–Fowler type differential equations are given in [8].

2. Some auxiliary statement.

Lemma 2.1. Let (1.2)–(1.4) be fulfilled and $u : N_{n_0} \rightarrow R$ be a nonoscillatory proper solution of (1.1). Then there exists $k_0 \in N_{n_0}$ such that

$$u(k) \Delta u(k) > 0 \quad \text{for } k \in N_{k_0}. \quad (2.1)$$

Lemma 2.2. *Let (1.2), (1.5) hold and $u : N_{n_0} \rightarrow R$ be a nonoscillatory solution of (1.1). Then*

$$\lim_{k \rightarrow +\infty} |u(k)| = +\infty, \quad \limsup_{k \rightarrow +\infty} \frac{|u(k)|}{k} < +\infty. \quad (2.2)$$

We refer the reader to [3] for the proof of Lemmas 2.1 and 2.2.

Lemma 2.3. *Let (1.2), (1.3), (1.5) be fulfilled and $u : N_{n_0} \rightarrow (0, +\infty)$ be a positive proper solution of (1.1). Then for any $s \in N$ there exists $k_0 \in N_{n_0}$ such that*

$$u(k) \geq \rho_{s,k_0}(k) \quad \text{for } k \geq k_0, \quad s = 1, 2, \dots, \quad (2.3)$$

where

$$\rho_{1,k_0}(k) = \left((1 - \lambda) \sum_{i=k_0}^k \sum_{j=i}^{+\infty} p(j) \right)^{\frac{1}{1-\lambda}}, \quad (2.4)$$

$$\rho_{s,k_0}(k) = \sum_{i=k_0}^k \sum_{j=i}^{+\infty} p(j) (\rho_{s-1,k_0}(\sigma(i)))^\lambda, \quad s = 2, 3, \dots \quad (2.5)$$

Proof. Let $u : N_{n_0} \rightarrow (0, +\infty)$ be a positive solution of (1.1). Then according to Lemma 2.1 there exists $k_0 \in N_{n_0}$ such that (2.1) holds. Therefore, from (1.1) we have

$$\Delta u(k) \geq \sum_{i=k}^{+\infty} p(i) u^\lambda(\sigma(i)) \quad \text{for } k \in N_{k_0}. \quad (2.6)$$

Consequently, by (1.3) and Lemma 2.1,

$$\Delta u(k) \geq u^\lambda(k+1) \sum_{i=k}^{+\infty} p(i) \quad \text{for } k \in N_{k_0}.$$

Thus, we have

$$\sum_{i=k_0}^k \frac{\Delta u(i)}{u^\lambda(i+1)} \geq \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) \right). \quad (2.7)$$

Taking into account that

$$\Delta u(i) = \int_{u(i)}^{u(i+1)} ds \quad \text{and} \quad u^{-\lambda}(i+1) \leq s^{-\lambda} \quad \text{for } u(i) \leq s \leq u(i+1),$$

from (2.7) we have

$$\sum_{i=k_0}^k \int_{u(i)}^{u(i+1)} s^{-\lambda} ds \geq \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) \right) \quad \text{for } k \in N_{k_0}.$$

Therefore

$$\int_{u(k_0)}^{u(k+1)} s^{-\lambda} ds \geq \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) \right) \quad \text{for } k \in N_{k_0}.$$

Hence it is clear that

$$u^{1-\lambda}(k+1) - u^{1-\lambda}(k_0) \geq (1-\lambda) \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) \right) \quad \text{for } k \in N_{k_0}.$$

Thus, since $\lambda \in (0, 1)$, from the last equality we have

$$u(k+1) \geq \left((1-\lambda) \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) \right) \right)^{\frac{1}{1-\lambda}} \quad \text{for } k \in N_{k_0}. \tag{2.8}$$

On the other hand from (2.6) we find

$$u(k+1) \geq \sum_{i=k_0}^k \left(\sum_{j=i}^{+\infty} p(j) u^\lambda(\sigma(j)) \right).$$

Therefore, (2.8) and (1.3) obviously imply (2.5) for any $k \geq k_0$ and $s = 2, 3, \dots$

The lemma is proved.

Let $k_0 \in N$. Denote by U_{k_0} the set of all proper solutions of (1.1) satisfying the condition $u(k) > 0$ for $k \in N_{k_0}$.

Lemma 2.4. *Let $k_0 \in N$ and $U_{k_0} \neq \emptyset$. Then for any $\Delta \in [0, \lambda]$ and $s \in N$,*

$$\sum_{k=1}^{+\infty} k^{\lambda-\Delta} (\rho_s(\sigma(k)))^\Delta p(k) < +\infty, \tag{2.9}$$

where

$$\rho_1(k) = \left((1-\lambda) \sum_{i=1}^k \left(\sum_{j=i}^{+\infty} p(j) \right) \right)^{\frac{1}{1-\lambda}}, \tag{2.10}$$

$$\rho_s(k) = \sum_{i=1}^k \left(\sum_{j=i}^{+\infty} p(j) \rho_{s-1}^\lambda(\sigma(j)) \right), \quad s = 2, 3, \dots \tag{2.11}$$

Proof. Let $n_0 \in N$ and $U_{n_0} \neq \emptyset$. Then (1.1) has a proper positive solution $u : N_{n_0} \rightarrow (0, +\infty)$. According to Lemma 2.3, there exist $k_0 \in N_{n_0}$ such that the condition (2.3) is fulfilled, where ρ_{s,k_0} , $s = 1, 2, \dots$, is defined by (2.4) and (2.5). Therefore, by (2.1) and (2.6) we have

$$u(k+1) \geq \sum_{i=k_0}^k \sum_{j=i}^{+\infty} p(j) u^\Delta(\sigma(j)) u^{\lambda-\Delta}(\sigma(j)) \geq \sum_{i=k_0}^k \sum_{j=i}^{+\infty} p(j) \rho_{s,k_0}^\Delta(\sigma(j)) u^{\lambda-\Delta}(\sigma(j)).$$

Hence, by (1.3) we get

$$u(k+1) \geq \sum_{i=k_0}^k \sum_{j=i}^{+\infty} p(j) \rho_{s,k_0}^\Delta(\sigma(j)) u^{\lambda-\Delta}(j+1) \geq (k-k_0) \sum_{j=k}^{+\infty} p(j) \rho_{s,k_0}^\Delta(\sigma(j)) u^{\lambda-\Delta}(j+1), \quad (2.12)$$

$$k = k_0 + 1, k_0 + 2, \dots$$

If $\Delta = \lambda$, by (2.2) and (2.12) we have

$$\sum_{j=k}^{+\infty} p(j) \rho_{s,k_0}^\lambda(\sigma(j)) \leq \frac{u(k+1)}{k-k_0} < +\infty. \quad (2.13)$$

Let $\Delta < \lambda$. Then by (2.12) we have

$$u^{\lambda-\Delta}(k+1) \geq (k-k_0)^{\lambda-\Delta} \left(\sum_{j=k}^{+\infty} p(j) \rho_{s,k_0}^\Delta(\sigma(j)) u^{\lambda-\Delta}(j+1) \right)^{\lambda-\Delta}.$$

Hence

$$\sum_{j=k_0}^k \frac{u^{\lambda-\Delta}(j+1) \rho_{s,k_0}^\Delta(\sigma(j)) p(j)}{\left(\sum_{i=j}^{+\infty} u^{\lambda-\Delta}(i+1) \rho_{s,k_0}^\Delta(\sigma(i)) p(i) \right)^{\lambda-\Delta}} \geq \sum_{j=k_0}^k (j-k_0)^{\lambda-\Delta} \rho_{s,k_0}^\Delta(\sigma(j)) p(j). \quad (2.14)$$

Denote

$$a_j = \sum_{i=j}^{+\infty} u^{\lambda-\Delta}(i+1) \rho_{s,k_0}^\Delta(\sigma(i)) p(i).$$

Then from (2.14) we have

$$\sum_{j=k_0}^k \frac{a_j - a_{j+1}}{a_j^{\lambda-\Delta}} \geq \sum_{j=k_0}^k (j-k_0)^{\lambda-\Delta} p(j) \rho_{s,k_0}^\Delta(\sigma(j)). \quad (2.15)$$

On the other hand,

$$\begin{aligned} \sum_{j=k_0}^k \frac{a_j - a_{j+1}}{a_j^{\lambda-\Delta}} &= \sum_{j=k_0}^k a_j^{\Delta-\lambda} \int_{a_{j+1}}^{a_j} ds \leq \sum_{j=k_0}^k \int_{a_{j+1}}^{a_j} s^{\Delta-\lambda} ds = \\ &= \int_{a_{k+1}}^{a_{k_0}} s^{\Delta-\lambda} ds = \frac{1}{1-\lambda+\Delta} \left(a_{k_0}^{1-\lambda+\Delta} - a_{k+1}^{1-\lambda+\Delta} \right) \rightarrow \\ &\rightarrow \frac{1}{1-\lambda+\Delta} a_{k_0}^{1-\lambda+\Delta} \quad \text{for } k \rightarrow +\infty. \end{aligned}$$

Therefore, from (2.15) we have

$$\sum_{j=k_0}^{+\infty} (j - k_0)^{\lambda-\Delta} p(j) \rho_{s,k_0}^\Delta(\sigma(j)) < +\infty \quad \text{for any } \Delta \in [0, \lambda]. \tag{2.16}$$

According to (2.13) and (2.16), for any $\Delta \in [0, \lambda]$ and $s \in N$ (2.16) holds. Therefore, since

$$\lim_{k \rightarrow +\infty} \frac{\rho_s(k)}{\rho_{s,k_0}(k)} = 1 \quad \text{for any } k_0 \in N \quad \text{and } s \in N,$$

by (2.16) it is obvious that for any $\Delta \in [0, \lambda]$ and $s \in N$ (2.9) holds, which proves the validity of the lemma.

3. Sufficient conditions for oscillation.

Theorem 3.1. *Let the conditions (1.2) – (1.5) be fulfilled and for some $\Delta \in [0, \lambda]$ and $s \in N$,*

$$\sum_{k=1}^{+\infty} k^{\lambda-\Delta} \rho_s^\Delta(\sigma(k)) p(k) = +\infty. \tag{3.1}$$

Then all solutions of (1.1) are oscillatory, where ρ_s is defined by (2.10) and (2.11).

Proof. Assume the contrary. Then there exists $k_0 \in N$ such that (1.1) has a proper solution $u : N_{k_0} \rightarrow (0, +\infty)$ (the case $u(k) < 0$ is similar). Since the conditions of the Lemma 2.4 are fulfilled, for any $\Delta \in [0, \lambda]$ and $s \in N$ (2.9) holds, which contradicts (3.1). The obtained contradiction proves the validity of the theorem.

Corollary 3.1. *Let the conditions (1.2) – (1.4) be fulfilled and*

$$\sum_{k=1}^{+\infty} k^\lambda p(k) = +\infty. \tag{3.2}$$

Then all solutions of (1.1) are oscillatory.

Proof. To prove the corollary, it suffices to note that according to (3.2) the condition (3.1) holds for $\Delta = 0$.

Corollary 3.2. Let the conditions (1.2) – (1.5) be fulfilled and for some $s_0 \in N$,

$$\sum_{k=1}^{+\infty} p(k) \rho_{s_0}^\lambda(\sigma(k)) = +\infty. \quad (3.3)$$

Then all solutions of (1.1) are oscillatory.

Proof. It is obvious that by (3.3) for $\Delta = \lambda$ and $s = s_0$ the condition (3.1) holds.

Corollary 3.3. Let the conditions (1.2) and (1.3) be fulfilled and for some $\gamma \in (0, 1)$

$$\liminf_{n \rightarrow +\infty} k^\gamma \sum_{k=1}^{+\infty} p(j) > 0 \quad (3.4)$$

and

$$\sum_{k=1}^{+\infty} p(k) (\sigma(k))^{\frac{\lambda(1-\gamma)}{1-\lambda}} = +\infty. \quad (3.5)$$

Then all solutions of (1.1) are oscillatory.

Proof. It suffices to show that for $s_0 = 1$ (3.3) is satisfied. Indeed, according (3.4), there exist $k_0 \in N$ and $c > 0$ such that

$$\sum_{j=k}^{+\infty} p(j) \geq c k^{-\gamma} \quad \text{for } k \in N_{k_0}.$$

Therefore, by (2.10) we have

$$\begin{aligned} \rho_1(k) &\geq \left(c(1-\lambda) \sum_{i=1}^k i^{-\gamma} \right)^{\frac{1}{1-\lambda}} = \left(c(1-\lambda) \sum_{i=1}^k i^{-\gamma} \int_i^{i+1} ds \right)^{\frac{1}{1-\lambda}} \geq \\ &\geq \left(c(1-\lambda) \sum_{i=1}^k \int_i^{i+1} s^{-\gamma} ds \right)^{\frac{1}{1-\lambda}} = \left(c(1-\lambda) \int_1^{k+1} s^{-\gamma} ds \right)^{\frac{1}{1-\lambda}} = \\ &= \left(\frac{c(1-\lambda)}{1-\gamma} ((k+1)^{1-\gamma} - 1) \right)^{\frac{1}{1-\lambda}} \frac{(k+1)^{\frac{1-\gamma}{1-\lambda}}}{2} \left(\frac{c(1-\lambda)}{1-\gamma} \right)^{\frac{1}{1-\lambda}} \quad \text{for } k \geq k_1, \end{aligned}$$

where $k_1 > k_0$ is a sufficiently large natural number. Thus, according to (3.5) it is obvious that for $s_0 = 1$ (3.3) holds, which proves the corollary.

Corollary 3.4. Let the conditions (1.2) and (1.3) be fulfilled and

$$\liminf_{n \rightarrow +\infty} k \sum_{j=k}^{+\infty} p(j) > 0, \quad (3.6)$$

$$\sum_{k=1}^{+\infty} p(k) (\ln \sigma(k))^{\frac{\lambda}{1-\lambda}} = +\infty. \quad (3.7)$$

Then all solutions of (1.1) are oscillatory.

Proof. To prove the corollary, it is sufficient to note that according to (3.6), (3.7) implies (3.3) for $s_0 = 1$.

Theorem 3.2. Let the conditions (1.2) – (1.5) and (3.4) be fulfilled and there exist $\alpha \in (1, +\infty)$ such that

$$\liminf_{n \rightarrow +\infty} \frac{\sigma(k)}{k^\alpha} > 0. \quad (3.8)$$

If, moreover, at least one the conditions

$$\alpha \lambda \geq 1 \quad (3.9)$$

or

$$\alpha \lambda < 1$$

and for some $\varepsilon > 0$

$$\sum_{k=1}^{+\infty} k^{\frac{\alpha\lambda(1-\gamma)}{1-\alpha\lambda} - \varepsilon} p(k) = +\infty \quad (3.10)$$

is fulfilled, then all solutions of (1.1) are oscillatory.

Proof. It suffices to show that the condition (3.3) is satisfied for some $s_0 \in N$. Indeed, according to (3.4) and (3.8) there exist $\alpha > 1$, $\gamma \in (0, 1)$, $c > 0$ and $k_0 \in N$ such that

$$\sum_{j=k}^{+\infty} p(j) \geq c k^{-\gamma} \quad \text{for } k \in N_{k_0} \quad (3.11)$$

and

$$\sigma(k) \geq c k^\alpha \quad \text{for } k \in N_{k_0}. \quad (3.12)$$

According to (3.11) and (2.10), it is obvious that $\lim_{k \rightarrow +\infty} \rho_1(k) = +\infty$. Therefore, without loss of generality we can assume that $\rho_1(k) \geq 1$ for $k \in N_{k_0}$. Thus, by (2.10), (2.11) and (3.11) we have

$$\begin{aligned} \rho_2(k) &\geq c \sum_{j=k_0}^k j^{-\gamma} = c \sum_{j=k_0}^k j^{-\gamma} \int_j^{j+1} ds \geq c \sum_{j=k_0}^k \int_j^{j+1} s^{-\gamma} ds = \\ &= c \int_{k_0}^{k+1} s^{-\gamma} ds = \frac{c}{1-\gamma} \left((k+1)^{1-\gamma} - k_0^{1-\gamma} \right). \end{aligned}$$

Choose $k_1 > k_0$ such that

$$\rho_2(k) \geq \frac{c}{2(1-\gamma)} k^{1-\gamma} \quad \text{for } k \geq k_1.$$

Therefore, by (2.11), (3.11) and (3.12) for $s = 2$, if $\lambda\alpha(1-\gamma) - \gamma < 0$ we have

$$\begin{aligned} \rho_3(k) &= \sum_{i=k_0}^k \left(\frac{c i^{\alpha(1-\gamma)}}{2(1-\gamma)} \right)^\lambda \sum_{j=i}^{+\infty} p(j) \geq \\ &\geq \frac{c^{1+\lambda}}{(2(1-\gamma))^\lambda} \sum_{i=k_0}^k i^{\alpha\lambda(1-\gamma)-\gamma} = \\ &= \frac{c^{1+\lambda}}{(2(1-\gamma))^\lambda} \sum_{i=k_0}^k i^{\alpha\lambda(1-\gamma)-\gamma} \int_i^{i+1} ds \geq \\ &\geq \frac{c^{1+\lambda}}{(2(1-\gamma))^\lambda} \sum_{i=k_0}^k \int_i^{i+1} s^{\alpha\lambda(1-\gamma)-\gamma} ds = \\ &= \frac{c^{1+\lambda}}{(2(1-\gamma))^\lambda} \int_{k_0}^{k+1} s^{(1-\gamma)\alpha\lambda-\gamma} ds = \\ &= \frac{c^{1+\lambda}}{(2(1-\gamma))^\lambda(1-\gamma)(1+\alpha\lambda)} \left((k+1)^{(1-\gamma)(1+\alpha\lambda)} - k_0^{(1-\gamma)(1+\alpha\lambda)} \right) = \\ &= \frac{c^{1+\lambda} k^{(1-\gamma)(1+\alpha\lambda)}}{2(2(1-\gamma))^{1+\lambda}(1+\alpha\lambda)} \quad \text{for } k \geq k_2, \end{aligned} \tag{3.13}$$

where $k_2 > k_1$ is a sufficiently large natural number.

If $\lambda\alpha(1-\gamma) - \gamma \geq 0$, then we have

$$\begin{aligned} \rho_3(k) &\geq \sum_{i=k_0}^k \left(\frac{c}{2(1-\gamma)} \right)^\lambda i^{\lambda\alpha(1-\gamma)-\gamma} \int_{i-1}^i ds \geq \\ &\geq c \left(\frac{c}{2(1-\gamma)} \right)^\lambda \int_{k_0-1}^k s^{\lambda\alpha(1-\gamma)-\gamma} ds = \\ &= \left(\frac{c}{2(1-\gamma)} \right)^\lambda \frac{\varepsilon}{(1-\gamma)(1+\alpha\lambda)} \left(k^{(1-\gamma)(1+\alpha\lambda)} - (k_0-1)^{(1-\gamma)(1+\alpha\lambda)} \right) \geq \\ &\geq \left(\frac{c}{2(1-\gamma)} \right)^{1+\lambda} \frac{k^{(1-\gamma)(1+\alpha\lambda)}}{1+\alpha\lambda} \quad \text{for } k \geq k'_2, \end{aligned} \tag{3.14}$$

where $k'_2 > k_1$ is sufficiently large.

Thus by (3.13) and (3.14) we have

$$\rho_3(k) \geq \left(\frac{c}{2(1-\gamma)} \right)^{1+\lambda} \frac{k^{(1-\gamma)(1+\alpha\lambda)}}{1+\alpha\lambda} \text{ for } k \geq k_3,$$

where $k_3 = \max\{k_2, k'_2\}$. Therefore, for any $s_0 \in N$ there exists $k_{s_0} \in N$ such that

$$\rho_{s_0}(k) \geq \left(\frac{c}{2(1-\gamma)(1+\alpha\lambda+\dots+(\alpha\lambda)^{s_0-2})} \right)^{1+\lambda+\dots+\lambda^{s_0-2}} k^{(1-\gamma)(1+\alpha\lambda+\dots+(\alpha\lambda)^{s_0-2})} \quad (3.15)$$

for $k \geq k_{s_0}$.

Assume that (3.4) holds. Choose $s_0 \in N$ such that $(1-\gamma)(s_0-1) \geq 1$. Then, according to (1.5) and (3.15) it is obvious that (3.3) holds. In the case where (3.9) holds, the validity of the theorem is proved. Assume now that $\alpha\lambda < 1$ and for some $\varepsilon > 0$ (3.10) is fulfilled. Choose $s_0 \in N$ such that

$$1 + \alpha\lambda + \dots + (\alpha\lambda)^{s_0-2} > \frac{1}{1-\alpha\lambda} - \frac{\varepsilon}{\alpha(1-\gamma)}.$$

Then from (3.15) we have

$$\rho_{s_0}(k) \geq c_0 k^{\frac{1-\gamma}{1-\alpha\lambda} - \frac{\varepsilon}{\alpha}} \text{ for } k \geq k_{s_0},$$

where $c_0 > 0$. Therefore by (3.12)

$$\rho_{s_0}^\lambda(\sigma(k)) \geq c_1 k^{\frac{\alpha\lambda(1-\gamma)}{1-\alpha\lambda} - \varepsilon} \text{ for } k \geq k_{s_0},$$

where $c_1 > 0$. Consequently, according to (3.10), it is obvious that (3.3) holds.

The theorem is proved.

In a similar manner we can prove the following theorem.

Theorem 3.3. *Let the conditions (1.2)–(1.5) and (3.6) be fulfilled and for some $\alpha > 0$*

$$\liminf_{k \rightarrow +\infty} k^{-\alpha} \ln \sigma(k) > 0.$$

Then all solutions of (1.1) are oscillatory.

1. Cheng S. S., Yan T. Ch., Li H. J. Oscillation criteria for second order difference equations // Funkc. ekvacioj. — 1991. — **34**. — P. 223–239.
2. Grace A. R., Lalli B. S. Oscillation theorema for second order delay and neutral difference equations // Util. Math. — 1994. — **45**. — P. 197–211.
3. Koplatadze R., Kvinikadze G., Stavroulakis I. P. Oscillation of second order linear difference equations with deviating arguments // Adv. Math. Sci. and Appl. Gakōtoshō, Tokyo. — 2002. — **12**, № 1. — P. 217–226.
4. Koplatadze R. Oscillation of linear difference equations with deviating arguments // Comput. Math. Appl. — 2001. — **42**. — P. 477–486.

5. *Kordonis I. G. E., Philos Ch. G.* Oscillations and nonoscillations in linear delay or advanced difference equations // *Math. Comput. Modell.* — 1998. — **27**, № 7. — P. 11–21.
6. *Koplatadze R., Kvinikadze G.* Necessary conditions for existence of positive solutions of second order linear difference equations and sufficient conditions for oscillation of solutions // *Nonlinear Oscillations.* — 2009. — **12**, № 2. — P. 180–195.
7. *Koplatadze R.* On asymptotic behavior of solutions of almost linear and essentially nonlinear differential equations // *Nonlinear Anal. Theory, Methods and Appl.* — 2009. — P. 396–400.
8. *Koplatadze R.* On asymptotic behavior of solutions of n -th order Emden–Fowler differential equations with advanced argument // *Czech. Math. J.* — 2010. — **60 (135)**. — P. 633–817.
9. *Koplatadze R.* On oscillatory properties of solutions of functional differential equations // *Mem. Different. Equat. Math. Phys.* — 1994. — **3**. — P. 1–179.

*Received 25.01.11,
after revision — 04.05.11*